Champagne Award 2014 Bern

Section A

13 entries by 11 composers in this section. 1 problem was cooked.

| accepted a loose definition of cross-check : n+1 consecutive checks = n cross-checks.
This allows checks with capture, but of course more elegant are cross-checks without capture.

Under the large definition, the record to my knowledge is 7 cross-checks, given as Annex, difficult to
improve in short time competiton.

The authors were left to work either on quantity (looking for “local records”) or on quality (homogeneity,
originality,...). Of course, the personal tastes of the judge are essential in the final ranking.
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l.a4 a5 2.Ha3 Ha6 3.H5¢3 HEd6 4.b3 b6 5.£b2 £b7 6. W1 &xg2 7.3 D¢6 8.Hgl £h1
9.Hg5 W38 10.5hS5 g5 11.2h3 £h6 12. £f5 ££8 13.h3 Lg7 14.2h2 Lf6 15.f3 Lé5 16.d4+
L xd417.9d2 g4+ 18. Hé3+ L5+ 19.2d3+

« Only » 4 thematical checks but of the same nature : they are all battery checks without capture,
the most sophisticated nature of thematical moves. Very « professional » realization.



2° Prize

Per OLIN
g 2 =
43432 3 3
i 4
u
£
53D

&[4l & 15 ©
Ong 260

SPG 11,0 (13+14) C+

1.63 d6 2.Whs Wd7 3. W xh7 Dh6 4.Wé4 £5 5.3 Lf7 6. L2 Lg6 7.Lg3 LhS5 8.Lh3 f4+
9.g4+ fxg3 e.p.+ 10.Ygd+ Wxgd+ 11.fxgd+ L xgd+

Great intensity (number of cross-checks / total number of moves = 6/22). « Local record » of 7
checks with homogeneous play around square g4.

3° Prize
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SPG 17,0 (12+13) C+

1.g4 a5 2.2h3 a4 3.9f1 a3 4.9g2 axb2 5. 913 Ha3+ 6.2¢4 E xh3 7.a4 é6 8.a5 L7 9.6 Lf6
10.a7 @g5 11.Ha5+ d5+ 12.E xd5+ 5+ 13. E xf5+ éxf5+ 14.gxf5 £¢515.Da3 b1=£
16.a8=2 £x¢2+ 17.d3+ Hé3+

The composer succeeds in equalizing the existing record by splitting the play in 2 sequences of
croos-checks (5+2). The aesthetical drawback is 2 promoted Bishops apparent on the diagram.



1° H.M.

Jonathan MESTEL, Allan BELL

XA

25 3 141
Wy jui
&5 A

2 2D
ool ey o e
& 265

SPG 13,5 (15+11) C+

1.a4 é5 2.a5 é4 3.a6 é3 4.axb7 éxd2+ 5.9 xd2 £¢7 6.L¢3 Lf6 7.Hac+ Lg5 8.Hh6 La3
9.Wde 267 10.Wx¢7 Hé8 11.Wxc8 Whe+ 12. WS+ DS+ 13. 23+ Hé3+ 14. £ x63¢

2° H.M.

Ivan BENDER, Marko FILIPOVIC, Marko KLASINC
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SPG 13,0 (13+13) C+

1.64 hS 2.65 Eh6 3.¢6 Hg6 4.6xd7+ € xd7 5.d4 £¢6 6.2d2 266 7.L¢3 £xa2 8.5 xa2
Wxd4+ 9.&b3 Dd7 10.HE xa7 Hb8 11. Had Hg3+ 12. W3+ Wd5+ 13. H¢4+ D5+

1** and 2™ HM both show a nice sequence of 5 checks without capture. 2" HM is more
homogeneous (5 direct checks as there is a battery check in 1* HM) but 1* HM adds a thematical
capture check, with pin-mate as non thematical bonus.



3° H.M.

Kostas PRENTOS
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SPG 9,0 Circé parrain (16+16)

1.d4 ¢5 2.dx¢5 Whe(a3) 3.2d2 d5 4.¢xd6 e.p. £66(f3) 5.9¢3 Dd7 6.dxé7 Wé3(hd)+ 7.&b4
£ xa2 8.Wd4(a5) & xé7 9. Wxe3(f6)++ Ld8(Wd4)+ +

Cross-double check is clearly impossible in orthodox chess. Possibly other fairy conditions than
Circe Parrain allow to do it, but this problem will be a pioneer.

1° Com.

Marco BONAVOGLIA
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SPG 9,0 (15+13) C+

1.63 d5 2.962 Lg4+ 3.&d3 Dd7 4.2d4 ¢5+ 5.9xd5 267 6. W3 Lh4 7. Wxf7+ Dé7+
8. Wxé7+ 8+ 9.Wd7+ Wxd7+

6 checks as 1" HM (and 3™ Com.) and still a better intensity (5/18) than 2™ Prize but a lacking in
homogeneity



2° Com.

Allan BELL
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1.63 a5 2. Wgd a4 3.3 Ha5 4. 246 d6 5. 262 £¢6 6.2d3 ©d7 7.062 L¢6 8. Hgl L5+
9.W¢4+ HdS+ 10.0d4+

A final sequence similar to that of 2" HM, but one check less. Additional originality is that the play
is totally without capture (32 units on diagram). A « local » record with this constraint?

3° Com.

Vidmantas SATKUS
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SPG 15,5 (14+11) C+

1.¢3 hS5 2.9d5 Eh6 3.20%¢7 HEc6 4.0d5 Whe 5.0x¢7+ £d8 6.2xa8 HEx¢2 7.0b6 H xcl
8.2a4 HE¢39.H¢1 Ea3 10.Wb3 Df6 11.2d1 Dh7 12.9¢2 £¢7 13.9¢3 Wh3+ 14.Ld4+
L2654+ 15. Ex¢S5+ De6+ 16.Hxc6+

6 thematical checks as in 1 HM and 1 Com. Well done.
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SPG 17,0 (14+15) C+

1.g3 Da62.2g2 Hb8 3.8¢6 bxg6 4.2¢3 Hb3 5.20d5 H¢3 6.29b4 dS 7.dx¢3 d4 8.2¢3 dxé3
9. W45 D¢510.Wg2 £d7 11.0-0-0+ Dd3+ 12.&b1 d6 13.Lal L¢5 14.Eb1 D¢l 15.913
Wd1 16.9d4 YWg1 17.9f1 247

All other entries have a King in check on diagram. Author had original idea to hide the cross-check
sequence in the middle of the game. But only one cross-check is insufficient for a higher ranking.

Annex

Kostas PRENTOS, Andrei FROLKIN
Orbit 2010
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l.a4 g5 2.Ha3 £h6 3.Hg3 &8 4.¢c3 Lg7 5. W2 &f6 6. Wge+ 65 7.d3 a5 8.2¢3 Ha6 9.92d2
Hé6 10.2b6 D6 11.263 Dd4 12.9d2 g4+ 13.f4+ gxf3 e.p.+ 14. Hgs+ Df5+ 15. W xf5+
Ld6+ 16.2é4+

Current record for 8 consecutive checks = 7 cross-checks.



Section B

This tourney was in memory of Paul VALOIS and Uri AVNER.
Disappointingly (again for this section) only 2 entries by 3 composers were received.

Both entries showed the same basic idea. A castling is demonstrated to be illegal in a reflex problem
because otherwise it would have been forced to be played before by the reflex condition.

One of the entry added some complications in the retro construction, ending in a much heavier position.
Well, it is generally true nowadays than to be on top of an award, you have to display some complexity.

But chess composition is not only “sport” but also “art”. And clarity of exposition of the idea was here the
decisive point.
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1.h7! [2. & xf7+ & x71] (1...0-0-0? is illegal) 1...&d8 2.9g7 Hf8+

Black Pawns captured the 10 missing white pieces. Every possible black last move (except King and

Ra8 moves that distroy castling) leaves position with mate by castling that should have been played
if castling was legal.



2° Place

Joaquim CRUSATS, Andrei FROLKIN
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1.262 ~2.2f1 gxf1=Y1 (2.0-0-01? illégal)

If last move was £é2-d1 (other £ moves are illegal because of reflex mate ©¢é21), then 0-0-0 is
illegal otherwise reflex condition would have forced it as last move. Other last black moves have to
be studied, such as -1. 2 g8-g5 g5 x Whe -2.Wf6-f6 given by composers; but I see no point in this
complications : there would have been some point for example in a twin presentation, where a
sequence of moves save the castling in a position and not in the other one, but this is not the case

here...

Michel Caillaud



